Annexure – H 2 (Cancellation)

Date: 18.12.2018

<u>Cancellation of locations in the Advertisement published in the website www.petrolpumpdealerchayan.in for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" by IndianOll Corporation Ltd on 25.11.2018</u>

An Advertisement was published by IOC on 25.11.2018 in the website www.petrolpumpdealerchayan.in seeking applications for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" at various locations in the State of Punjab with Sl. no 1 to 1857.

The Locations with SI no (195,307,336,357,408,416,452,559,582,592,598,601,610,615,617,634,635,674,688,692,709,733,739,740741,752,775,809,850,866,10 35,1043,1044,1047,1053,1055,1068,1069,1076,1080,1081,1083,1088,1090,1096,1097,1098,1100,1121,1179,1205,1267,1404,1432,15 44,1545,1502,1771,1778,1780,1816,1818,1852) as mentioned below, stand cancelled:-

Sl. No	Name of location	Revenue District	Type of RO	Estimate d monthly Sales Potential #	Category	Type of Site*	M.)/Area	, I			oe the (Rs in	Mode of Selectio n	Fixed Fee / Minimu m Bid amount (Rs. in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC-1 SC PH ST ST CC-1 ST PH OBC	CC / DC / CFS	Fronta ge	Depth	Area	Estimated working capital requireme nt for operation of RO	Estimate d fund required for develop ment of infrastru cture at RO	Draw of Lots / Bidding		

					OBC CC-1 OBC PH OPEN									
					OPEN CC- 1 OPEN CC- 2									
					OPEN PH									
195	VILLAGE- SARAI AMANAT KHAN, (ON CHABBAL ATTARI ROAD), BLOCK- GANDIWIND, TEHSIL- TARN TARAN	AMRITSAR	Rural	25	OPEN	DC	30	35	1050	12	30	Draw of lots	5	4
307	ON NH-9 I.E. ON KILLIAWALI- DOOMWALI BYPASS	BATHINDA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
336	FROM ROAD CONNECTING NH7 TILL GREEN CITY, BATHINDA (RHS)	BATHINDA	Regular	100	OPEN	DC	20	20	400	25	45	Bidding	15	5
357	PARASRAM NAGAR CHOWK TO CANAL, SANTPURA ROAD, BATHINDA CITY	BATHINDA	Regular	130	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
408	ON NH-254, BETWEEN FAUJI CHOWK AND KANAHIYA CHOWK ,BATHINDA CITY	BATHINDA	Regular	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
416	2 KM FROM BHUCHO KANCHIAN TOWARDS NATHANA ON BHUCHO NATHANA ROAD, SH-16A	BATHINDA	Regular	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
452	TALWANDI BHAI(WML)	FIROZPUR	Regular	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
559	VILLAGE BURJ DHILWA, BLOCK-	BATHINDA	Rural	58	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

	TALWANDI SABO, TEHSIL-MANSA													
582	VILLAGE PHALLAR, BLOCK-SANGAT, TEHSIL-SANGAT	BATHINDA	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
592	VILLAGE- CHANDBHAN, JAITO- BHATINDA ROAD, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	46	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
598	VILLAGE- GURU KI DHAB, JAITO- KOTKAPURA ROAD, BLOCK-KOTKAPURA, TEHSIL-KOTKAPURA	FARIDKOT	Rural	46	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
601	VILLAGE -MATTA, GURU KI DHAB TO MATTA ROAD, TEH- JAITO, BLOCK- KOTKAPURA, TEHSIL- KOTKAPURA	FARIDKOT	Rural	46	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
610	VILLAGE- ROMANA ALBEL SINGH, JAITO- KOTKAPURA ROAD, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	46	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
615	VILLAGE- JEONWALA, BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FARIDKOT	Rural	36	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
617	VILLAGE THAMMANGARH ON MAUR MANDI- RAMPURA ROAD, BLOCK-MAUR, TEHSIL- MAUR	BATHINDA	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
634	VILLAGE CHOTIAN, BLOCK-RAMPURA, TEHSIL-RAMPURA	MANSA	Rural	58	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
635	VILLAGE SHERGARH, BLOCK-SANGAT, TEHSIL-SANGAT	FAZILKA	Rural	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

674	VILLAGE CHUGGIAN, BLOCK-FAZILKA, TEHSIL-FAZILKA	FAZILKA	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
688	VILLAGE SANGRAHUR , BLOCK-FARIDKOT, TEHSIL-FARIDKOT	FIROZPUR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
692	VILLAGE ATLA KHURD, BLOCK-MAUR, TEHSIL- MAUR	MANSA	Rural	58	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
709	VILLAGE MANDI KALAN, BLOCK- RAMPURA, TEHSIL- RAMPURA	MANSA	Rural	58	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
733	PATREWALA , BLOCK- ABOHAR, TEHSIL- ABOHAR	FAZILKA	Rural	46	ОВС РН	DC	35	35	1225	12	30	Draw of Lots	5	3
739	BETWEEN KM STONE 1 TO 5 ON ABOHAR- SITTOGUNNO ROAD VIA SIMIGO INTERNATIONAL SCHOOL, BLOCK- FAZILKA, TEHSIL- FAZILKA	FAZILKA	Rural	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
740	VILLAGE CHANNO ON LAMBI TO GIDDERBAHA ROAD, BLOCK-GIDDERBAHA, TEHSIL-LAMBI	MUKTSAR	Rural	58	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
741	VILLAGE PEORI, BLOCK-GIDDERBAHA, TEHSIL-LAMBI	MUKTSAR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
752	VILLAGE THARAJWALA ON GIDDERBHA- LAMBI ROAD, BLOCK- MALOUT, TEHSIL- MALOUT	MUKTSAR	Rural	52	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
775	FROM UDANG TOWARDS KUNDAL ON MUKTSAR- ABOHAR ROAD,	MUKTSAR	Rural	110	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

	BLOCK-MUKTSAR, TEHSIL-MUKTSAR													
809	On Kurali- Ropar Bye Pass, within 2 Km from Kurali to Ropar on NH 205	SAS Nagar	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of lots	15	5
850	Village Farour on NH 95, LHS from Khamano to Samrala	LUDHIANA	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of lots	15	5
866	Sirhind Bye Pass Road, Within One KM from Chunni Sirhind Road, Sirhind WML	FATEHGAR H SAHIB	Regular	100	ОВС	DC	20	20	400	25	45	Draw of lots	15	5
1035	Village Gaunsgarh, Block-Macchiwara, Tehsil-Samrala	LUDHIANA	Rural	46	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
1043	Village - Pipal Majra, Block-Â Chamkaur Sahib , Tehsil- Chamkaur Sahib	FATEHGAR H SAHIB	Rural	46	OPEN	DC	30	35	1050	12	30	Draw of lots	5	4
1044	Vill.Bhaini Gujjran,, Block-Sidhwanbet , Tehsil-Sidhwanbet	LUDHIANA	RURAL	46	ОВС	DC	30	35	1050	12	30	Draw of lots	5	3
1047	Village Bassian bet, Block-Sidhwan Bet, Tehsil-Ludhiana West	LUDHIANA	RURAL	46	OPEN	DC	30	35	1050	12	30	Draw of lots	5	4
1053	Village - Kale Majra, Block-Â Chamkaur Sahib, Tehsil- Chamkaur Sahib	FATEHGAR H SAHIB	Rural	46	OPEN	DC	30	35	1050	12	30	Draw of lots	5	4
1055	Village Churpur,, Block-Ludhiana, , Tehsil-Ludhiana West	LUDHIANA	RURAL	46	ОВС	DC	30	35	1050	12	30	Draw of lots	5	3
1068	Village Majri on Bhadla - Kheri Nud Singh Road, Block- Ludhiana 2, Tehsil- Ludhiana West	FATEHGAR H SAHIB	RURAL	46	OPEN	DC	30	35	1050	12	30	Draw of lots	5	4
1069	Village Rampur - Ludhiana Bypass Road, Block-Doraha, Tehsil-	LUDHIANA	RURAL	46	OPEN	DC	30	35	1050	12	30	Draw of lots	5	4

	Doraha]								
1076	Village Gureh, Block- Sidwanbet, Tehsil- Jagraon	LUDHIANA	RURAL	46	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
1080	Village Boparai, Block- Sudhar, Tehsil- Jagraon	LUDHIANA	RURAL	46	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
1081	Village Payal on payal gudani link road, Block-Payal, Tehsil- Payal	LUDHIANA	Rural	46	OBC	DC	30	35	1050	12	30	Draw of lots	5	3
1083	Village Dhandran, Block-Ludhiana West, Tehsil-Ludhiana	LUDHIANA	Rural	46	OPEN	DC	30	35	1050	12	30	Draw of lots	5	4
1088	Village Bilaspur, Block- DORAHA,, Tehsil- DORAHA	LUDHIANA	Rural	46	ОВС	DC	30	35	1050	12	30	Draw of lots	5	3
1090	Village Dhurkot, Block- Pakhowal, Tehsil- Raikot	LUDHIANA	Rural	46	OPEN	DC	30	35	1050	12	30	Draw of lots	5	4
1096	Village Galib Kalan, Block-Â Jagraon, Tehsil-Jagraon	LUDHIANA	RURAL	46	ОВС	DC	30	35	1050	12	30	Draw of lots	5	3
1097	Village Basaimi , Block- Sidwanbet, Tehsil- Ludhiana West	LUDHIANA	RURAL	46	OPEN	DC	30	35	1050	12	30	Draw of lots	5	4
1098	Village Bhutta on Sarinh to Rara Sahib Road, Block-Dehlon, , Tehsil-DEHLON	LUDHIANA	Rural	46	SC	CFS	30	35	1050	0	0	Draw of lots	0	2
1100	Village Sidhwan Kalan, Block-Â Jagraon, Tehsil-Jagraon	LUDHIANA	RURAL	46	ОВС	DC	30	35	1050	12	30	Draw of lots	5	3
1121	Village Rania, Block- Ludhiana, Tehsil- Ludhiana I	LUDHIANA	Rural	46	OPEN	DC	30	35	1050	12	30	Draw of lots	5	4
1179	Village Harbanspura, Block-Sirhind, Tehsil- Sirhind	FATEHGAR H SAHIB	RURAL	46	OPEN	DC	30	35	1050	12	30	Draw of lots	5	4
1205	Village Rurka , Block-	LUDHIANA	RURAL	46	SC	CFS	30	35	1050	0	0	Draw of	0	2

	Sudhar, Tehsil-Sudhar]						lots		
1267	Village Khanpur on Guru Govind Singh Marg, Block-Dehlon, Tehsil-Dehlon	LUDHIANA	Rural	46	SC CC-1	CFS	30	35	1050	0	0	Draw of lots	0	2
1404	IN VILLAGE KHATTI ON NH 344B (HOSHIARPUR- PHAGWARA ROAD)	KAPURTHA LA	REGUL AR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
1432	SHAM CHAURASI ON SHAM CHAURASI HARYANA ROAD	HOSHIARP UR	Rural	45	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1544	VILLAGE ALAMPUR BAKKA	JALANDHA R	RURAL	45	sc	CFS	30	35	1050	0	0	Draw of Lots	0	2
1545	VILL MEHINDIPUR (ON BALACHAUR- GARHIKANUGO ROAD)	SHAHID BHAGAT SINGH NAGAR	Rural	54	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1502	BATNURA	JALANDHA R	Rural	48	OPEN	DC	30	35	1050	12	30	Draw of Lots	5	4
1771	Ghanaur, on Bahadurgarh-Ghanaur Road, Block -Rajpura, Teh-Rajpura	PATIALA	Rural	46	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
1778	Channo on Channo- Lalouchhi Road, Block - Bhawanigarh, Teh- Sangrur	SANGRUR	Rural	46	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
1780	Chaleri Kalan, Block - Rajpura, Teh-Rajpura	PATIALA	Rural	46	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
1816	Gulahar, Block - Patran, Teh-Patran	PATIALA	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1818	Dirba on Dirba-Janal Road, Block -Dirba, Teh- Sunam	SANGRUR	Rural	46	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
1852	Sunam on Sunam- Sheron Road, Block - Sunam, Teh- Sunam	SANGRUR	Rural	46	SC	CFS	35	35	1225	0	30	Draw of Lots	0	2

Application fee of those Applicants, who have already submitted the applications along with the requisite application fee for the above locations, shall be refunded.

All other terms & conditions of the advertisement published on 25.11.2018 remains unchanged.